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ECONOMICS
( Major )
Paper : 1.1

( Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following :
were frapyEs Ted ford

(a) Choose the correct option : 1x5=5
wa Reso! iR Slee

iy The problem of ‘scarcity and choice’
mainly give rise to

‘TrReel HF FRBAT TR A4 R
Ris s

1. problems of underdevelopment’
SR Y
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(2)

economic problems
SASF T
non-economic problems
S-S T

None of the above
CLEERt e

the indifference curve is a

downward sloping straight line, it
means that the goods are

s @ M TEE @EAEl NRE

A =, (ST 2 TEH @ TWIPFHR

1. perfect substitutes
o Rm

2. perfect complementariés
oA R

3. used in equal amount
HARATS IRTO

4. None of the above
G943 G018 A

(i) Fixed cost is found
&3 T comn T
1. in the long-run only

e GRGEEIEI

( Continued )

(3)

2. in the short-run only

(P9 TS

both in the short-run and the
long-run

THIE E NPT TeHe

None of the above

8937 «ble 2y

(iv) A linearly homogeneous production
function depicts

FREARSE THCSA AT For «BfR o

1.

increasing returns to scale

FREIW TAR] Afe=

2. decreasing returns to scale
SRPTH M@ A

3. constant returns to scale
HZEE TqR fqe

4. All of the above
G SHIRCFRD!

(v) At the lowest point of the AC curve
5% T4 (AC) (RIR fwres Rvs
1. AC is greater than MC

TG ¥ 21T IO AR =
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2. AC is less than MC
1% AR AIfET TIST TN =W

3. AC is equal to MC
516 I 1S TS A =

4. AC is double the MC

5T I AEF I 81 W

(b) What is Giffen good? 1
[RCTR-IREN

(c) Mention one limiiation of indifference
curve analysis. 1
feers @4 Resses o1 Saeme! Teas 741 |

(d) Define sunk cost. 1
faftge /ermm arE e o |

fe) What is production possibility curve? 1
T ol @91 2

() What is cross elasticity of demand? - 1
iR s Rfegeer 2

2. Answer the following questions : 2x5=10

o epEd Ted fayn
fa) What is static equilibrium?
tEfes STl 2
A7/371

( Continued )

(S)

(b)) What is income effect?

g e 2

(c) Draw the Engel curve for an inferior
good.

A waR AT O e ({1 W 97 |

(d) What is factor elasticity of substitution?
o eifeEeR Rfegrre %2

(e) What are the conditions of profit
maximization in terms of marginal
revenue and marginal cost?

afte W wWFE dfF IWF AgEeS  Fe
NI TEcenl 3 59

3. Answer the following questions (any foun :
5x4=20

o 2T ;amﬁm(ﬁmmﬁﬁ):

(a) Distinguish between stable and unstable
equilibriums.

A% W WHF SR Ted AL B[l T4 1

. (b) Briefly explain the applications of the
concept of consumer’s surplus.

(STEH TFE YRANGR IR S AT 0 |
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(@)

(e)

(6)

Why two indifference curves cannot
intersect? Explain.

wor facrs @R TR IR IR ?
T F#9

Draw the TFC, TVC, AVC and AFC
curves.

T fox T, P AREA T, e RS
IR W T B I @ A T4

What are the different types of returns to
scale? Explain.

RS eeme TaR dforrER [ & 2 0 34

Explain the relationship among AR, MR
and elasticity of demand.

T S, AR WE W SIRAR RRrReN
e oo [0 F90 |

4. Answer the following questions (any four) :

10x4=40

o eppTRs s o (R e wifR)

(@)

A7/371

Discuss some basic market models
indicating whether they work through
the market or interfere with the market.

TERE @ IR 0 @ IWEI SRS

wrRd o orER R IR TR Wi

A 91 |

{ Continued )

(b)

(c)

(d)

(e)

(7))

Discuss the properties of indifference
curves with diagrams.

41| ;

Discuss the derivation of demand curve
from the price consumption curve.

79 Tores ([RA9 o[/ vIEw @ W e
o, A 9 |

Discuss the procedure of derivation of
Engel curve.

e I Sferaqr AeCo! SCErsAT 4 |

Discuss critically the law of variable
proportions.

ARTERT  were RGeS
A 4] |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of

isoquants and isocost lines. 2+8=

ST IRPTAR FL [ 2 FWORATA (@1 S

| TRA @R TS PR PAST A A
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(g) Discuss the derivation of production
possibility curve from contract curves. 10
S @@ o| R S REA S
Sfereqr =3, SCEAL 41

(h) Discuss the nature of the short-run and
long-run average cost curves. Why is the
long-run average cost curve flatter than
the short-run average cost curve? 7+3=10

TGE E WHeAE oS I @ 24l
SIS I | ZERTA TG T QA M
a1% 37 (31 e @A 9= e
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